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QUESTION: 129 
For IBM Lotus Quickr integration with IBM Connections which two of the following 
statements must be true? (Select two.) 

A. The Lotus Quickr server and the Connections server must share the same database.
B. The Lotus Quickr server and the Connections  server must  be federated in the same
node deployment.
C. The Lotus Quickr server and the Connections server must be using the same LDAP
server.
D. The Lotus Quickr server and the Connections server must be in the same domain.
E. The Lotus Quickr server and the Connections server must reside in the same IBM
WebSphere Application Server cell.

Answer: C, D 

QUESTION: 130 
Ryan is enabling tracing manually via the IBM WebSphere Integrated Solutions 
Console to send to IBM Support. Which of the following log levels typically is the most 
appropriate for this task? 

A. SEVERE
B. ALL
C. INFO
D. WARNING

Answer: B 

QUESTION: 131 
Sukumar is having an issue and has contacted IBM support. IBM Support has requested 
that he use the IBM Support Assistant (ISA) Lite tool to help them troubleshoot the 
issue. Which of the following describes how this tool can be used to help IBM Support 
resolve the issue? 

A. ISA Lite allows IBM Support to download  information from  the machine  for
review to troubleshoot the issue.
B. ISA Lite allows IBM Support to access the machine and troubleshoot the issue.
C. ISA Lite collects information to send to IBM Support for review to troubleshoot the
issue.
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D. ISA Lite collects information and allows IBM Support to access the machine and
troubleshoot the issue.

Answer: C 

QUESTION: 132 
IBM Connections applications maintain delete and  access-control update information 
for search indices for 30 days. If indexing is not performed for 30 days, what should the 
administrator do to ensure data integrity? 

A. Re-schedule indexing using the CRON task.
B. Restart the search service to force indexing to start.
C. Delete and re-create the index.
D. Check the search logs to determine why indexing stopped.

Answer: C 

QUESTION: 133 
What property needs to be set to true in order to see additional debug information in the 
ibmdi.log file? 

A. source_debug=true in the profiles_tdi.properties
B. debug=true in the map_dbrepos_from_source.properties
C. nothing as this is enabled by default
D. source_ldap_debug=true in the profiles_tdi.properties

Answer: D 

QUESTION: 134 
Mark's users have reported issues accessing the IBM Connections site. Users' browsers 
hang upon going to the site, and then, after several seconds, they receive the error 
message: "This page cannot be displayed." What could be the cause of this error 
message? 

A. The application servers might have crashed and need to be restarted.
B. The web server might have crashed and needs to be started.
C. The database became corrupt over night due to backups.
D. The URL to access the site has expired and needs to be changed.
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Answer: B 

QUESTION: 135 
If the IBM Connections features cannot connect to the database(s), which of the 
following is the correct tool to use to verify JDBC settings and test the connection? 

A. IBM WebSphere Integrated Solutions Console
B. IBM Tivoli Directory Integrator
C. Connections Homepage Administration
D. IBM DB2

Answer: A 

QUESTION: 136 
Michael is creating his IBM Connections databases using the provided scripts for IBM 
DB2. However, whenever he attempts to execute any of the createDb.sql scripts he gets 
the following exception: 
"SQLCODE: -551, SQLSTATE: 42501, DOES NOT HAVE THE PRIVILEGE TO 
PERFORM OPERATION ON OBJECT". Which of the following best explains the 
reason Michael is seeing this issue? 

A. He failed to follow all the steps required to create databases manually, specifically
the one to ensure that the owner ID has privileges to create databases, tablespaces,
tables, and indexes prior to executing the scripts.
B. He failed to follow all the steps required to create databases manually, specifically
the one to issue the db2start command prior to executing the scripts.
C. He failed to follow all the steps required to create databases manually, specifically to
copy the db2jcc.jar and db2jcc_license_cu.jar files prior to executing the scripts.
D. He failed to follow all the steps required to create databases manually, specifically to
execute the appGrants.sql script prior to running the createDb.sql script.

Answer: A 

QUESTION: 137 
SSO can be configured between IBM WebSphere Application Server, IBM 
Connections, and Enterprise Content Management servers. Which two from the 
following list are prerequisites for SSO? (Select two.) 
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A. A third-party SSO product must be installed and configured.
B. Both instances of WebSphere Application Server must use the same LDAP server.
C. IBM WebSphere Portal server must be used for all SSO-enabled applications.
D. Both instances of WebSphere Application Server must have global security disabled.
E. Both instances of WebSphere Application Server must specify the same domain
name.

Answer: B, E 
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